Shriram School Mawana
Holiday Homework
Class- XlI
Sub: - English
Worksheet- 1
(Writing skills)
MM.-20

Ques. 1. Write an article on the topic 'Hazards of Television Watching for Kids' in about 200 words.
1x10=10

Ques.2. Prepare an advertisement to let out a flat giving necessary details. 1x4=5

Ques. 3. Design a poster to announce the staging of a play in your school giving necessary details.
1x5=5

Shriram School Mawana
Holiday Homework
Class- XlI
Sub:-English
Worksheet- 2
(Literature)
M.M.-20

Ques. 1. Read the extract given below and answer the questions that follow. 1x4=4

“and felt that old familiar ache,
my childhood fear, but all | said was
see you soon Amma all | did was
smile and smile and smile. *

Where are these lines taken from?
Who is the poet of these lines?
What familiar ache did the poet feel?
Why did the poet only smile?

wp =

Ques. 2. Read the lines given below and answer the questions that follow. 1x4=4

“ it was all much more tempting than the rule for participles, but | had the strength to resist, and
hurried off to school.”

1. Who s an ‘I referred to here?
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2. What was much more tempting than the rule for participles?
3. Where was the speaker going?
4, Name the chapter and its author.

Ques. 3. Answer the following questions in about 40 to 50 words. 2x6=12

1. Mention the hazards of working in the glass bangles industry?

2. What did the note inside the first day cover reveal in the story The Third Level?

3. What was the full name of the Tiger King?

4, How did the Maharaja deal with a high-ranking british officer who wanted to shoot a tiger?
5. What do you learn about Galesburg, lllinois during 1894?

6. Why was Franz not scolded for reaching the school late that day?

Shriram School Mawana
Holiday Homework
Class- Xl
Sub:-English
Worksheet- 3
(PROJECT WORK)

Ques. 1. Write a story review of the chapter ‘The Lost Spring’ or ‘The Tiger King' in about 200 - 250
words.

Begin with the gist of the story.

Then write how did you like the story and why?

Then explain which part of the story you liked the most and why?
Then mention which character is your favourite in it and why?
And then the conclusion.
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SHRIRAM SCHOOL MAWANA
CLASS XII-B
SUBJECT: ACCOUNTANCY(055)
SUMMER HOLIDAY WORKSHEET 1 (2021-22)

M.M. 20

GENERAL INSTRUCTIONS
*WORK SHOULD BE NEAT AND CLEAN.
-ANSWER SHOULD BE RELEVANT TO THE QUESTION

*WORK SHOULD BE DONE IN FAIR NOTEBOOK/ANY
OTHER NOTEBOOK

*1-4=1 mark each
+5-9=2 marks each (about 30 words)

*10 and 11=3 marks each

1.Features of a Partnership Firm are:

(a)Two or more persons are carrying common business
under an agreement.
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(b)They are sharing profits and losses

(c)Business is carried by all or any of them acting for all as
an agent

(d) All of the above

2. Following are essential elements of a partnership firm
except:

(a) At least two persons
(b) There is an agreement between all partners
(c) Equal share of profits and losses

(d) Partnership Agreement is for some business

3. Abhishek drew rupees 2,00,000 during the year. If the
rate of interest on drawings is 8% then interest on
drawings will be

4. The relation of the partner with the firm is that of
Principal and an
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5. Mention any four provisions of the Partnership Act, In
the absence of Partnership Deed.

6. State four important points which must be incorporated
in a Partnership Deed.

7. Name any six items which are shown in 'Profit and Loss
Appropriation Account'.

8. Mention differences between Fixed Capitals and
Fluctuating Capitals.

9. in the absence of Partnership Deed what are the rules
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relating to:-

(a) Salaries of Partners, (b) Interest on Partner's capitals,
(c) Interest on loan given by a Partner, (d) Profit sharing
ratio.

10. S, T, W and X are partners sharing profits in the ratio
4:3:2:1. X is given a guarantee that his share of profits in
any given year would be rupees 80,000. Deficiency if any,
would be borne by other partners equally. The profits for
the year ended 31st March, 2016 amounted to rupees
6,50,000. Pass necessary entries in the books of the firm.

11. X, Y and Z are partners in a firm sharing profits and
losses in the ratio 5:3:2. Their capitals (fixed) are rupees
2,00,000, rupees 1,50,000, rupees 1,25,000 respectively.
For the year ended 31st March, 2018 interest on capital
was credited to them @8% instead of 10%. Give adjusting
journal entry.
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SHRIRAM SCHOOL MAWANA
CLASS XII-B
SUBJECT: ACCOUNTANCY(055)
SUMMER HOLIDAY WORKSHEET 2 (2021-22)
M.M. 20

GENERAL INSTRUCTIONS
*WORK SHOULD BE NEAT AND CLEAN.
*ANSWER SHOULD BE RELEVANT TO THE QUESTION

*‘WORK SHOULD BE DONE IN FAIR NOTEBOOK/ANY
OTHER NOTEBOOK

*1-4=1 mark each
*5-9=2 marks each (about 30 words)

*10 and 11=3 marks each

1. Which of the following is true in relation to Goodwill?
(a) Goodwill is a fictitious asset

(b) Goodwill is a current asset

(c) Goodwill is a wasting asset

(d) Goodwill is an intangible asset
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2. The Goodwill of the firm is NOT affected by:
(a) Location of the firm

(b) Reputation of firm

(c) Better customer service

(

d) None of the above

3.Super profit is the excess of over the
normal profits.

4. Goodwill is an asset, but not a
asset.

5. Give any four features of goodwill.

6. Write any four factors which affect the Goodwill of a
Partnership Firm.
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7. What is meant by number of years' purchase at the time
of valuation of goodwill?

8. Explain any two methods of valuation of goodwill.

9. Distinguish between Average Profit and Super Profit
method of valuation of goodwill.

10. A firm earned profits of Rupees 80,000, Rupees
1,00,000, Rupees 1,20,000 and Rupees 1,80,000 during
2010-11,2011-12, 2012-13 and 2013-14 respectively. The
firm has capital investment of Rupees 5,00,000. A fair rate
of return on investment is 15% p.a. Calculate goodwill of
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the firm based on three years' purchase of average super
profits of last four years.

11. Capital invested in a firm is Rupees 3,00,000. Normal
rate of return is 10%. Average profits of the firm are
Rupees 41,000 (after an abnormal loss of Rupees 2,000).
Calculate Goodwill at five times the super profits.
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SHRIRAM SCHOOL, MAWANA
HOLIDAY HOMEWORK (2021-2022)
BUSINESS STUDIES (054)
CLASS XII-B

WORKSHEET-1

General Instructions:

* Do your work neatly.
* Holiday homework can be done in fair register if available or any
other notebook available at home.

Q1. Very Short Questions: (1x4=4)

a.) Why is "employment interview’ conducted in the process of selection?

b.) What is meant by recruitment?

c.) An organisation provides security services. It requires such candidates who are
reliable and don’t leak out the secrets of their clients. What step should be
incorporated in selection process?

d.) Which cases can be filed in the state commission under the Consumer
Protection Act, 19867

Q2. Short Questions: (2x5=10)

a.) Explain briefly ‘Casual Callers’ and ‘Labour Contractors’ as external sources
of recruitment.

b.) Human Resource Management includes many specialized activities and duties
which the human resource personnel must perform. In the light of this
statement, explain any two such duties performed by Human Resource
Manager.

c.) Give the definition of Consumer as per CPA,19867

d.) Alpha Enterprises is a company manufacturing water geyser. The company has
a functional structure with four main functions-Production, Marketing, Finance
and Human Resource. As the demand for the product grew, the company
decided to hire more employees.

Identify the concept which will help the Human Resource Manager in deciding
the actual number of persons required in each department.

e.) Harish is engaged in the warehousing business and his warehouses are
generally used by businessmen to store fruits. Identify the working capital
requirements of Harish giving reasons in support of your answer. Further,



Harish wants to expand and diversify his warehousing business. Identify any
one factor that will affect his fixed capital requirements

Q3. Long Questions: (3Ix2=6)

a.)  Mohit Gupta is working with Yellow Security Services Ltd. He is also
recruiting security guards for the company. The company provides security services
in Delhi and Noida at short notice to various companies. The guards are recruited on a
temporary basis. The guards provided by this company are known for their honesty

and punctuality. Mohit Gupta is well-known in his village for providing employment
to unskilled people.

1. Name the source of recruitment used by Yellow Security Services Ltd.
2. State any one disadvantage of this source of recruitment.
3. Identify any two values communicated to society in the above stated case.

b.)  Rizul Bhattacharya, after leaving his job, wanted to start a Private Limited
Company with his son. His son was keen that the company may start manufacturing
mobile-phones with some unique features. Rizul Bhattacharya felt that mobile phones
are prone to quick obsolescence and a heavy fixed capital investment would be
required regularly in this business. Therefore, he convinced his son to start a furniture
business.

Identify the factor affecting fixed capital requirements which made Rizul
Bhattacharya choose the furniture business over mobile phones.

WORKSHEET-2

Q1. Very Short Questions: (1x4=4)

a.) How many members are required to constitute ‘ District consumer dispute
redressal forum™?

b.) Who can file a complaint under Consumer Protection Act, 19867

c.) Give one relief available to a consumer who suffers due to consumption of an
expired date medicine.

d.) Amit is running an ‘advertising agency’ and earning a lot by providing this
service to big industries State whether the working capital requirement of the
firm will be ‘less’ or “more’.



Q2. Short Questions: (2x5=10)

a.) Raghu purchased a truck worth Rs.35 lakhs. The truck had some inbuilt problems
and after some days stopped starting. Since it was in the guarantee period it was
shown to the company. The people in the company refused to attend to his
complaints. It was heart breaking for him so he decided to file a complaint in the
state commission. The state commission on hearing the pleas from both the
parties gave decision in favour of the truck company. It was shockingly bad news
for Raghu.

1. At what level of authority should Raghu file a complaint now?
2. In how many days should he file his complaint at the next level?

b.) Identify the concept which will help the Human Resource Manager in deciding
the actual number of persons required in each department. Himanshu purchased a
new car from ‘Galaxy Motors” for Rs.25 lakhs. He was offered free insurance for
the first year and three free servicing to be availed after the car had covered 5,000
km, 10,000 km and 15,000 km respectively. When Himanshu took the car for the
first free servicing, he was told that the car was not new and first service had
already been availed on this car, He felt cheated and filed a complaint in the State
Commission, Being not satisfied with the decision of the State Commission, after
two months he decided to file an appeal against it.

Can Himanshu appeal against the decision of the State Commission?

¢.) Who can file a complaint on behalf of a deceased consumer?

d.) Distinguish between training and development.

e.) State any two reliefs available to a consumer under the provision of CPA

Q3. Long Questions: (3x2=6)

a.)  Amazing Duniya’ is a tourist agency. It also has a group of hotels. The
company offers new types of schemes to the potential customers. Amit was offered a
scheme of staying in a hotel for 6 days and 5 nights for free. However, when he
reached the destination, he was told that every room of the hotel was booked. He told
them that he was told earlier that his room was booked. He even showed them the
confirmation he received on his mail.

I. Can Amit file a complaint against the tourist agency?
2. Will he get a relief in this case?
3. Name the relief he will get.

b.)  Adesh had some problem walking on the road. He purchased a pair of shoes
with high heels. After some time of using these shoes his pain increased as he did not
know that there were medically recommended shoes available in the market for this
problem. After a few days of giving himself rest he approached a shop where the



medically recommended shoes were sold. He was amazed to learn that the company
making the shoes was holding workshops at different places in order to make the
people suffering with such problem aware of an available option.
1. Which consumer responsibility was not fulfilled by Adesh?
2. Which right has been helped protected by the company selling the medically
recommended shoes?



SHRIRAM SCHOOL, MAWANA
HOLIDAY HOMEWORK (2021-2022)
ECONOMICS (030)

CLASS XII-B

WORKSHEET-1

General Instructions:

* Do your work neatly.
* Holiday homework can be done in fair register if available or any
other notebook available at home.

Q1. Very Short Questions: (1x4=4)

a.) What is High Powered Money.

b.) Define Government Budget

c.) State the components of Current Account

d.) In a government budget, PD is 5000 crores and interest payment is 4000
crores. How much is FD?

Q2. Short Questions: (2x5=10)

a.) Name the basic goals of India development, which serve as guiding
principles of Indian Planning.

b.) Explain “Banker to the Government” function of Central Bank.

c¢.) Give the meaning of Occupational structure.

d.) State the Components of Capital Account of BOP.

e.) Discuss the Limitations of Barter System.

Q3. Long Questions: (3x2=6)
a.) Explain the Process of Money Creation by Commercial Banks, giving a
numerical example.

b.) 1.) Distinguish between Current Account and Capital Account of BOP.
i1.) Distinguish between Autonomous Transactions and Accommodating
transactions in BOP.



WORKSHEET-2

Q1. Very Short Questions: (1x4=4)

a.) The first official census was conducted in which year.
b.) What do you mean by Growth.

¢.) State the Components of Money Supply.

d.) Define an Indirect tax.

Q2. Short Questions: (2x5=10)

a.) What are official reserve transactions? Explain their importance in the
balance of payment.

b.) Explain Modernisation as a goal of five year plans.

¢.) Indian investors borrow from abroad. Answer the following:
i.)  In which sub-account and on which side of the balance of payment

account will this borrowing be recorded? Give reason

d.) Calculate the total deposit created by commercial bank if reserve ratio is
10% and primary deposit is Rs. 1250 crores.

e.) From the following data about a government budget, find:
i.)  Revenue Deficit.
i.)  Fiscal Deficit.

Particulars Amount (in crores)
Tax Revenue 47
Capital receipts 34
Non-tax Revenue 10
Borrowings 32
Revenue expenditure 80
Interest payment 20
Q3. Long Questions: (3x2=6)

a.) Explain the objective of resource allocation and income distribution in a
government budget.

b.) Discuss the main reasons for India’s agricultural stagnation during the
colonial period.



SRIRAM SCHOOL, MAWANA
SUB- Mathematics
CLASS-XII
HOLIDAY HOMEWORK

WORKSHEET - 1
M.M- 20

SECTION-A (1x4=4)

1. Using the principal values find the value of cos™ (cos%

.

2. If Ais a matrix of order 2 x 3 and B is a matrix of order 3 x 5 then what is the order
of matrix (A B)'.

3. Write the value of: tan2 (sec™ 2) + cot2 (cosec™ 3).

4. A matrix A of order 3 x 3 has determinants 6. What is the value of |4A|.

SECTION-B (2x5=10)
5. 1. Prove that tan’ (%)+ tan” (%) tan’ (% =%

6. If sin (sin” (%) + cos” x) = 1,then find the value of x.

7. Write the value of tan 1 |2 sin (2 cos” 325)

1T -1 0 2 2 4
8.1fA=]|2 3 4|andB=(4 2 -4 Find2A-3B.
0 1 2 2 -1 5
1 -1 -2
9. Find adj. Aof the matrix A=|3 1 -1
1 0 3
SECTION-C (3x2=6)
A (XL 1 (x| n
10. Solve for x, tan (x—z) + tan (x+2 4
4 4 411 -1 1
11. Determine the product |-7 1 3||1 -2 -2|and using it solve the equations.
5 -3 -1i2 1 3

X+y+2z=1, -x-2y+z=4, x-2y+3z=0



SRIRAM SCHOOL, MAWANA
SUB- Mathematics
CLASS-XII
HOLIDAY HOMEWORK
WORKSHEET - 2

M.M- 20
SECTION- A (1x4=4)
a b c¢ 6a 2b 2c
1. 1fjm n p|=kthen|3m n p|=
Xy Z 3Xx 'y z
a) %k b) 2k 0)3k d)6k
3
: 7 1 2 4] .
2. Given 9 2 1] 4| + 2[2] is equal to
4 3 [4 3 [4 5 [4 4
Ay 2 by 5 Ny 2 Ny s
3.1f 3tan™ x + cot™ x = m then x equals
a) 0 b)1 ¢) -1 d) %
4. A matrix A of order 3 x 3 has determinants 6 . What is the value of [3A|.
SECTION-B (2X5=10)

5 IfA= [au.] is a matrix of order 2 x 2 such that|A| =-10 and c, represents the

co- factors of a. Thenfinda, cc, +a,c,,

6. If A and B are square matrix of same order and B is a skew-symmetric matrix. Show
that A’'BA is also a skew-symmetric matrix.

2 sin (2 cos’ E)I

7. Write the value of tan™ 1 2

cos15° sin15°
sin15° cos75°

8. Evaluate the following determinants

1 -1 2
9. Without computing adj A. Find |adj. A| of the matrix A=(3 1 -2
1 0 3

SECTION - C (3x2=6)



Xx+3
X+4

-1 _

10. Solve for x :tan™ |5

+ tan
xX-4 ta

n
1

1 2 0
11.1fA= |2 -1 -2| findA™
0 -1 1

Using A™'solve the system of linear equations:
x-2y =10, 2x-y-z=8,-2y+z=7.



Shriram school Mawana
Holiday Homework

Class ------ 12t

Sub. — Physical education

MM. 20

Q.1. describe the types of tournaments.

Q. 2. Explain the rules of given by Byes.

Q. 3. Describe any three myths regarding diet.

Q. 4. Define balanced diet. Explain any four micro -nutrition.

Q. 5. Prepare a fixture of 21 teams on the basis of knockout tournament.

Your school is organising run for unity explain the responsibilities of First -aid and technical committee



SHRIRAM SCHOOL, MAWANA
HOLIDAY HOME WORK( 2021-22)
CLASS XII
SUBJECT: I.P

» MAKE A PPT ON COMPUTER NETWORKING.
» PPT SHOULD COVER ALL THE TOPICS OF THE CHAPTER AND
SHOULD HAVE MIN 15 SLIDES.
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Shri Ram school,Mawana
Sub-Fine Art
Holiday Home work
Class-12(A,B)
Q,1Write a short note on Radha (Bani-Thani).
Q-2 Describe the Rajsthani painting of KRISHNA ON SWING.
Q.3 Explain the Pahari school of miniature painting.
Q.4Explain in brief about the Krishna with Gopis(Pahari school).



